[image: ]
[image: ]
[bookmark: _GoBack][image: ]
[image: ]
image1.png
Rounding, Accuracy, Upper and Lower Bounds

Prior Learning

Round to nearest ten, hundred
a) 4560 and thousand

b) 3982
c) 8999
d) 1025

Literacy - Can
you unscramble
these keywords?

timeseat
dorun
madicel
finsgacitin
nimmium
aximmum

Skill 1: Round to decimals
18.67 to one d.p.

1

2. 45.98 tooned.p.

3. 6.907 tooned.p. ‘
4. 11.806 to two d.p.

5

6

7

38.773 totwod.p.
27.899 totwo d.p.
81.677 to three d.p.

MEMORY - PLACE VALUE
(LINK THE WORD WITH THE DIGID

ten unit hundredth

189.247

hundred  tenth thousandth
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Skill 2A - Significant figures

NAME the place value of
the st significant figure

a) 3400
b) 35.8
¢) 7041
d) 0.052
e) 0.405

Skill 2B - Round each number
to ONE significant figure

1. 7090 5. 6778

2. 875 6. 308.7

3. 067 7. 8955

4. 0.0088 8. 0.408

‘significont’ - mportant
or poticesble

=> NEW LEARNING (3)
Use a number line to find upper and lower bounds
of 18 rounded to the nearest whole number.

17 17.5
Lower I\\‘I\\\

Upper

18 185 19
Lo

17.5 ‘

| 18.5
1 (28.4999..)
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Skill 3 - Find the upper & lower bound
a) 820 rounded to the nearest ten *

b) 70 rounded to the nearest ten
¢) 400 rounded to the nearest hundred

d) 1100 rounded to the nearest hundred
e) 13 rounded to the nearest whole number
f) 431 rounded to the nearest whole number

Memory and Skill 4 - Bounds and decimals

Example : 4.5 rounded to nearest 0.1
Upper bound = 4.55 Lower bound = 4.45

a) 13.8 rounded to nearest 0.1
b) 23.8 rounded to nearest tenth o
¢) 8.53 rounded to nearest 0.01

d) 0.89 rounded to nearest hundredth
¢) 1.004 rounded to nearest 0.001

Stretch 3 - Application

of bounds
If a=10 rounded
to the nearest ten.
b = 8 rounded to the
nearest whole no.

Find the maximum
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Stretch 4 - Application of bounds for area calculations.
Each length is measured accurately to two significant figures.

Calculate the MAXIMUM area of each shape shown.

230mm IZ'O m

34 m

Stretch b - Cross-over topics using bounds

Joe rides his motorbike 10.5 miles correct to 0.1 mile.
It takes him 8 minutes , to the nearest minute.
What is the Upper Bound of his speed ?

a) in miles per minute
b) in miles per hour





